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dos

win2k  NTFS ntldr dos

386

CSEG SEGMENT USE16

ASSUME CS:CSEG,DS:CSEG,ES:CSEG
START PROC

CodeStart:
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’

; 20000 , L
BOOTCodeSectorl proc

org0; 0

cli

XOr ax,ax

mov ss,ax ; 0:2000h
mov sp,2000h

sti

push cs

pop ds ;ds=cs

mov ax,2000h

mov es,ax ;es=2000h
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dos
mov si,offset CodeStart ;ds:si->CodeStart
xor di,di ;es:di->
; : 2000h=16*512, Ntldr
; 16 , 16 1
mov ¢x,2000h ;
cld;
repz movsb ; 2000:0
push es
push offset BOOTCodel0 - offset CodeStart
retf ; BOOTStart
e A e e e e e
; NTFS ghost.img( )
BOOTCodel0:

jmp BOOTCode20

file_name_length dw 9

file_name dw'G', 'H', 'O", 'S, 'T",",'I''M",'G'

filenamebuffer db 256 dup (0)

BOOTCode20:

push cs

pop ds

call NTFSMain ; NTFS
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dos

movzx ecx, file_name_length

mov ax, offset file_name

call FindFile ;

or eax, eax

je BOOTCode99 ;

mov ebp,0 ; LBA
call GetFileDATAOrLBA ;eax= LBA
or eax, eax

je BOOTCode99 ;

mov ebp,eax ;ebp= LBA

call HardDisklmageVirtualFloppy

XOor ax,ax

mov es,ax

mov bx,7c00h

mov ax,0201h

mov c¢x,1

mov dx,0

int 13h

push es

push 7c00h

retf ;
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dos

BOOTCode99:

int 18h ;

org 1ffh ; 1ffh

BOOTCodeSectorl endp
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: :Ntldr : 1: 2000h(

BOOTCodeSector2 proc

org 200h ; 200h

jmp BOOTCodeSectorl

org 3ffh ; 3ffh

BOOTCodeSector2 endp
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X : ,Ntldr 16

; 0. Ntldr

org 400h
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dos

NTFSDOSAPI: NTFS DOS !
; D eax= API API
; D eax= API

NTFSDOSAPI proc

;push cs

;pop ds

;jmp FoundNTFSAPI
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; NTFS

NTFSAPIStart:

dw offset NTFSMain

dw offset FindFile

dw offset ReadFrs
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; c ..
index_name dw '$', 'l', '3', '0'
index_name_length dw 4

DriveNumber db 80h ; C
SectorBase dd ? ; LBA

SectorCount dw ? ;

NtfsSP dw ? ;
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dos

NtfsRET dw ? ;

NtfsCS dw ? ;

NTFSFlags dw ? ;
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sNTFS BPB ,

BytesPerSector dw ? ;

SectorsPerCluster db ? ;

HiddenSectors dd ? ;

MftStartLcn dd ? ;MFT LCN

ClustersPerFrsdd ? ;

BytesPerCluster dd ? ;

BytesPerFrsdd ? ;

SectorsPerFrs dd ? ;

BytesPerindexBlock dd ? ;

ClustersPerIindexBlock dd ? ;

SectorsPerIndexBlock dd ? ;
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sNTFS

AttrList dd 0e000h;

MftFrs dd 03000h; MFT

SegmentsinMft dd ? ; MFT
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dos

RootIndexFrs dd ? ;

AllocationIndexFrs dd ? ;

BitmaplIndexFrs dd ? ;

IndexRoot dd ? ; $INDEX_ROOT
IndexAllocation dd ? ; SINDEX_ALLOCATION
IndexBitmap dd ? ; $BITMAP

FileFrsdd ?;

IndexBlockBuffer dd ? ;

IndexBitmapBuffer dd ? ;

NextBuffer dd ? ;
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:Main: NTFS , NTFS

NTFSMain proc

push ds

pushad

push cs

pop ds

mov ax,0201h
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dos

mov ebx,MftFrs

mov cX,1

mov dh,01

mov dl,DriveNumber

int13h; NTFS (LBA:3fh)

cmp dword ptr [bx+3],5346544eh ; NTFS?

jnz ErrorExit

; NTFS ...

mov ax,[bx+0bh]

mov BytesPerSector,ax

mov al,[bx+0dh]

mov SectorsPerCluster,al

mov eax,[bx+1ch]

mov HiddenSectors,eax

mov eax,[bx+30h]

mov MftStartLcn,eax

mov eax,[bx+40h]

mov ClustersPerFrs,eax

movzx eax, BytesPerSector ;eax=

movzx ebx, SectorsPerCluster ;ebx=

mul ebx
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dos

mov BytesPerCluster,eax ;eax=

mov ecx, ClustersPerFrs

cmp cl, 00

jg NTFSMainl

neg cl

mov eax, 00000001

shl eax, cl ;eax=FRS

jmp NTFSMain2

NTFSMain1;

mov eax, BytesPerCluster

mul ecx ;eax= FRS

NTFSMain2;

mov BytesPerFrs,eax

movzx ebx,BytesPerSector

xor edx, edx

div ebx

mov SectorsPerFrs,eax

call SetupMft

mov ecX, NextBuffer

mov RootIndexFrs, ecx
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dos

add ecx, BytesPerFrs

mov AllocationIndexFrs,ecx

add ecx, BytesPerFrs

mov BitmaplndexFrs,ecx

add ecx, BytesPerFrs

mov FileFrs, ecx

add ecx,BytesPerFrs

mov IndexBlockBuffer,ecx

mov eax, 00000090h ;$INDEX_ROOT

mov ecx, AllocationIndexFrs

call LoadIndexFrs

or eax, eax

je ErrorExit

mov IndexRoot,eax

mov eax, 000000A0h ;$INDEX_ALLOCATION

mov ecx, AllocationIndexFrs

call LoadIndexFrs

mov IndexAllocation, eax

mov eax, 000000BOh ;$BITMAP

mov ecx, BitmaplndexFrs

call LoadIndexFrs
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dos

mov IndexBitmap,eax

mov eax,IndexRoot

or eax, eax

je ErrorExit

cmp byte ptr [eax+08h], 00

jne ErrorExit

; eax -> SINDEX_ROOT

lea edx, dword ptr [eax+10h] ;edx->

add ax, word ptr [edx+04h] ;eax -> value of SINDEX_ROOT

movzx ecx, byte ptr [eax+0Ch]

mov ClustersPerIindexBlock,ecx

mov ecx, dword ptr [eax+08h]

mov BytesPerIndexBlock,ecx

mov eax, BytesPerIndexBlock

movzx ecx, BytesPerSector

xor edx, edx

div ecx

mov SectorsPerIndexBlock,eax

mov eax, IndexBlockBuffer

add eax, BytesPerIndexBlock

mov IndexBitmapBuffer,eax
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dos

cmp IndexAllocation,00000000

je NTFSMain30

cmp IndexBitmap,00000000

je ErrorExit

mov ebx, IndexBitmap

push ds

pop es

mov edi, IndexBitmapBuffer

call ReadWholeAttribute

NTFSMain30:

popad

pop ds

ret
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; NTFS

ErrorExit;

int 18h

NTFSMain endp
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;GetFileDATAOrLBA : (LBA)

; ; eax= ebp=0 0 es:edi=
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; :eax= LBA(O ) es:edi=

GetFileDATAorLBA proc

pushad

push es

push edi

DATA

, eax ->

mov eax, dword ptr [eax] ;.IE_FileReference.REF_LowPart

push cs

pop es

mov edi, FileFrs ;es:edi=

call ReadFrs

mov eax, FileFrs

mov ebx, 00000080h ;$DATA

mov ecx, 00000000 ;

mov edx, 00000000 ;

call LocateAttributeRecord

: eax -> $DATA

or eax, eax

jz GetFileDATAorLBA99

movzx ebx, word ptr [eax+0Ch];.ATTR_Flags
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and ebx, 000000FFh ;

jnz GetFileDATAorLBA99

mov ebx, eax

cmp ebp,0;

jnz GetFileDATA

; LBA

cmp byte ptr [ebx+08h], 00 ;

jne GetFileLBA

jmp GetFileDATAorLBA99 ;

GetFileLBA:

lea edx, dword ptr [ebx+10h] ;edx->

mov ecx, dword ptr [edx+08h] ;ecx = HighestVcn

inc ecx ;ecx=

sub eax, eax ;eax= VCN

call ComputeLcn ;eax= LCN

movzx ecx, SectorsPerCluster

mul ecx ; LCN

mov SectorBase, eax ; (LBA)

mov SectorCount,1

pop edi
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dos

pop es

popad

mov eax,SectorBase

add eax,HiddenSectors ; LBA

ret

GetFileDATA:

mov ebx, eax

pop edi

pop es

call ReadWholeAttribute ; es:edi

popad

ret

GetFileDATAorLBA99:

pop edi

pop es

popad

XOr eax,eax

ret

GetFileDATAorLBA endp
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dos

;ComputeLcn: VCN LCN

: : eax->VCN ebx->

; ceax->LCN( 0 ) ecx->

ComputelLcn proc

cmp byte ptr [ebx+08h], 01 ; ;

je clen10

sub eax, eax ;

ret

clen10:;

lea esi, dword ptr [ebx+10h] ;esi->

mov edx, dword ptr [esi+08h] ;edx = HighestVcn

cmp eax, edx

jaclenl5;VCN  HighestVen

mov edx, dword ptr [esi] ;edx = LowestVcn

cmp eax, edx

jnb clen20

clenlb:

sub eax, eax ;VCN

ret

clcn20;

add bx, word ptr [esi+10h] ;ebx ->
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dos

sub esi, esi

clen30:

; ebx -> Current mapping pair count byte

: edx == Current VCN

: esi == Current LCN

cmp byte ptr [ebx], 00

je clcn99

call LecnFromMappingPair

add esi, ecx ;esi = LCN

call VenFromMappingPair

add ecx, edx ;ecx= VCN

cmp eax, ecx ; VCN...
jlclen80 ;...

mov edx, ecx ; VCN = VCN
push eax

movzx ecx, byte ptr [ebx] ;ecx =

mov eax, ecx

and eax, 0000000Fh ;eax = VCN

shr ecx, 04h

add ebx, ecx ;ecx = LCN

add ebx, eax
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dos

inc ebx ;ebx ->

pop eax

jmp clen30

clcn80:

sub ecx, eax ;ecx=

sub eax, edx

add eax, esi ;eax=LCN

ret

clcn99:

; VCN

sub eax, eax ;

ret

ComputeLcn endp
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*khkkhkkikk

:Findfile: X

; : eax-> ecx=
; D eax-> NULL
FindFile proc

push eax

push ecx
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mov edx, eax

mov eax, IndexRoot ;eax ->INDEX_ROOT

lea ebx, dword ptr [eax+10h] ;ebx ->

add ax, word ptr [ebx+04h] ;eax -> Index Root value

lea eax, dword ptr [eax+10h] ;eax -> Index Header

mov ebx, edx

call LocatelndexEntry

or eax, eax

je FindFile20 ;

pop ecx

pop ecx

ret

FindFile20:

mov eax, IndexAllocation

or eax, eax

jne FindFile30

pop ecx

eax,



O0e 10 LT e T O O T C I T T

win2k

NTFS

ntldr

dos

pop ecx

XOr eax, eax

ret

FindFile30:

mov edx, IndexAllocation ;edx->

lea edx, dword ptr [edx+10h] ;edx->

mov eax, dword ptr [edx+08h] ;eax = HighestVcn

inc eax ;eax =

mov ebx, BytesPerCluster

mul ebx ;

xor edx, edx

div BytesPerIndexBlock ;

push eax

FindFile40:

pop €ax ;

or eax, eax

je FindFile90

dec eax ;

push eax
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call I1sBlockInUse

jb FindFile40

call ReadIndexBlock

pop edx ;

pop ecx ;edx=

pop ebx ;ebx->

push ebx

push ecx

push edx

mov eax, IndexBlockBuffer ;eax->

lea eax, dword ptr [eax+18h] ;eax->

call LocatelndexEntry ;eax->

or eax, eax

je FindFile40

pop ecx

pop ecx

pop ecx

ret

FindFile90:
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dos

pop ecx

pop ecx

XOr eax,eax

ret

FindFile endp
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*khkkhkkkkkkkk

:IsBlockInUse:

, . eax=

IsBlockInUse proc

push eax

push ebx

push ecx

mov ebx, IndexBitmapBuffer

mov ecX, eax

shr eax, 03h ;eax=

and ecx, 00000007h ;ecx=

add ebx, eax ;ebx -> byte to test

mov eax, 00000001h

shl eax, cl ;eax=mask

test byte ptr [ebx], al
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je IBU10

clc ;Block is not in use.

jmp 1BU20

IBU10:

stc ; Block is in use.

IBU20:

pop ecx

pop ebx

pop eax

ret

IsBlockInUse endp
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;LcnFromMappingPair:

X : ebx->

; s ecx->LCN

LcnFromMappingPair proc

push ebx

push edx

sub edx, edx

mov dl, byte ptr [ebx] ;edx = count byte

and edx, 0000000Fh ;edi =v
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dos

sub ecx, ecx
mov cl, byte ptr [ebx]



